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Expected Question (Prelims Exams)

U Tl ST/ TR U9 o day o . Q. Consider the following statements
[ ]

TrAfafad waat uw faem = regarding Global warming /Green house
1. U9 TRH 99E o HRI BA & fAl H effect.
Afyees qomH o 9fs g 2 1. 'Green House effect’ has led to the rise in

2. TS afHT o RO 2050 dh fave
g 4.5 feilt Afcaem @ sewx 5 feult
Afeqag 8 et 2l

ITOF | 9 HH GUE wUH T 2272

Global temperature in the recent past.

2. Global warming may cause the world

temperature to rise by 4.5 degree celsius

to 5 degree celsius by 2050.

(&) <had 1 which of the above statements is/are correct?
(@) had 2 (a) 1 only
() 1 ST 2 T+ (b) 2 only
() iz T&f (c) Both 1 and 2
(d) None

wuTfad w9 (=T udter)

U,  Terae ST o 22 WA Bed T Sastd &b 1.5 Teit Afvaaw ¥ &6 & @t fgon ¥ fafvs varat
T ==t (250 T8 )

Q. What is global warming? Discuss the various efforts in the direction of reducing the Green -

house gas emissions below 1.5 degree celsius. (250 Words)
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